/DVIRB

3RPLHV]F]HQLH 5RINiDG =% 7\J
AN AN AN AN AN
=DU]aG]DQIH SURIHNIDPL B6HPLQDUXP (LFHQFIDFNLH 7HFKQINL QHIRFIDFIL L 3UJHGPLRIGR Z\E , SURI /HJLVIDFID

Z PJU=DigFJNRZVNL

GUKDE SIRI 8- .DiLV]

PHGLDFIL Z DGPLQLVIUDFIL

1Z GU KDE *UJ\ERZVNL

DGPLQVILDF\AIQD GZ  SURI

$GDP =% Sy $Q0D =% 2y iZ GUKDE SWRI 8-" 0DUDQ =% Sy 12 GU KDE *UJ\ERZVN.
=$5/ =35 $"0/ 6 _DIV] $QQD =% - $"0/ = ODUDQ =% )+
z RVIDIQH JDIGFD  PLQ )+$70/ & 7UDQVIRUPDFID VAVIHPYZ $"0/ &
b 2VIDIQH JDICFD ~ PLQ XVIRIRZAFK
=
O
I 7N
o
&
7)) ZHFKQINL QHIRFIDFIL L
PHGIDFIL Z DGPLQVIVDFIL
iZ GUKDE SWRI 8-"
_DIV] $QQD =% -
)+$"0/ &
2VIDIQH JDICFD  PLQ
7N 7N 7N 7N 7N
3UJHGPLRI GR Z\E ,, G 2UJDQUIDFID L 3RVIESRZDQIH SRGDINRZH 3UDZR F\ZUQH ,, SUDZR 3UDZR F\ZUQH ,, SUDZR
= \VRJ(aG aXNDVIN 10U]aG1DQH Z ZDU G 6i\V] UJHFIRZH L VSDGN.  ZDU UJHFIRZH L VSDGN.  ZDU
ODJGDHQD =% ) DGPIQLVIUDFIL SXELFTQHI SIHNVDQGHU =% ) 6l -DF1DQ "DPLDQ =% 60 -DF1DQ "DPIDQ =%
+$"0/ = Z Gl %lIQHU (ZD =% +53/7 = 2)+35% 7 & 2)+35% " &
5RG]LQD Z SUDZIH +$70/ & RVIDIQH JDICFID  PLQ RVIDIQH JDICFID  PLQ
= SRWNIP 2VIDIQH JDICFD  PLQ
<
T
[%] 7\J
2UIDQUJDFID L
101]aG1DQH Z
DGPLQVIUDFIL SXELFTQHI
Z Gl %lIQHU (ZD =%
)+3%$°0/ &
2VIDIQH JDICFD  PLQ
7N 7N 7N 7N 7N 7N
A 3UJHGPLRI GR Z\E ,, G 3UJHGPLRI GR Z\E , G 3UJHGPLRI GR Z\ERUX 3UHGPLRI GR Z\ERUX - RQVINIXFUIQ VAVIHP - RQVINIXFUIQ VAVIHP
3 KDE SURI 8- +DEXGD KDE SIRI 8- 6]DiRZVNL NHUXQNRZ\ , ZDU Gl NHUXQNRZN , ZDU PJU RUIDQyZ SDEVIZRZ\FK RUIDQYZ SDEVIZRZ\FK
g $GDP =% )+ 5\VIDUG =% By KDE SURI 8- +DEXGD = U]DIN ODJGDIHQD =% FZ PJU = U]DIN FZ PJU = U]DIN
2 $"0/ = $"0/ = $GDP =% )+ 2)+358 % = ODJGDIHQD =% ) ODJGDIHQD =% )
3UDZQD RFKIRQD SUT\IRG 8Villyl L JDGDQID 35% : = VSyiFTHVQH SUDZR +%$°0/ & +%$°0/ &
Z 3RIVFHL 8( DGPIQWIDFIL UJaGRZHI 3UDZQD RFKURQD SUJ\IRG Z\ERUFTH
‘ | | Z 3RIVFHL 8( |
7N 7N 7N 7N 7N 7N
_R]DN $HNVDQGUD =% )
z 5DFKXQNRZRGl G\VIHP RFKURQ\ SUDZQHI 3UJHGPLRI GR Z\ERUX 3UJHGPLRI NHIXQNRZ\ GR =DPyZIHQID SXEIF]QH
I 36 2 ICTW FKEVNL IQDQVRZD ZDI PJU Z 8QlL (XIRSHIVNHI 1Z Z\G]IDRZ\ 1 JONHVX ZNERUX JUXSD % GU Z Gl OXFKD .UT\V]IRI
2 - =DIgFINRZVN. $GDP =% 8Vily! RUIDQyZ RFKURQ\ | QDXN KXPDOLVINFTONFK = SRG]IN -DIRVADZ =% =% 2)+537
N )+53/ = SRPRF\ SIDZQHI Z *HU HNQJ " JIXN $0QD =% 2)+$"00 = -
- =0 - - - . .
I \:Q§+ %’_‘NOfBOQQD $A'2 e D+$70/ = = \EUDQH ]DJIDGQLHQLD RVIDIQH JDIEFID  PIQ

2VIDIQH JDICFID  PLQ

3UDNINF]QH DVSHNIN
RFKURQ\ SUDZ FJéRZIHND

HINNL




3RPLHV]F]HQLH 5RINiDG

/DVIRB

=% 7\J

7N
z G\VIHP RFKURQ\ SUDZQHI
< Z 80l (XIRSHIVNHI 12
= 8Vily! RUIDQyZ RFKURQN |
N SRPRF\ SIDZQHI Z *HU
-~ \QJ " JIXN $QQD =%
o )+3"00 $6&
2VIDIQH JDICFD  PLQ
= 7\G]
o _RQIHUHQFID GUKDE SUIRI 8- = aVIN -DFHN =%
7\G] 7\G] 7\G]
3UDZR PICG]\QDIRGRZH SXENF]QH Z GU - DQLHZVND 3UDZR NDUQH ZDU PJU . ZIDINRZYND SUTHGPIRI GR Z\ERIX NHIXQNRZN P
“RIRID =% =)+35% = = _DURIQD =% =)+35% - - _ ZIDINRZVND . DURIQD =% 2)+$"05
=DU\V SUDZD URG]LQQHIR
7\6] 7] A C1L00H)
SUTHGPIRI GR Z\ERUX NHIXQNRZN P 3UDZR NDUQH ZDU PJU . ZIDINRZVND - DURIQD =% 7\G] 7\G]
JU+:3DE“)F]DI“ - RZDUN %HDID =% : )+35% = = RNINQ\ SRUNF]QH L SIDZQH GZ PJU $GPLQVIUDF\IQH SUDZR JRVSRGDUF]H
)+358 - - ODNXFK OLFKD; =% 2)+35% = iZ Gl = RINRZIDN $QQD =% H
8Vily! | 10GDQLD DGPLQLVIVDFIL U]aGRZHI 7\6] 7\6] : +$"05 =
3UDZR NDUQH ZDU PJU . ZIDINRZYND SUTHGPIRI GR Z\ERUX NHIXQNRZA PJU
7] _DURIQD =% =)+35% - - . ZIDINRZVND . DURIQD =% )+ 7\6]
3RGVIDZ\ XEH]SIHFTHE = $705 = 3UDZR NDUQH ZDU PJU . ZIDINRZVND - DURIQD =%
iZ PJU=DIgFINRZVNL 7\G] SHGDIRZDQUH IHNViyZ SUDZQ\FK 2)+35% 1 =
$GDP =% )+ 3UDZR DGPIQVILDFNQH  F] VF]HI
=$55 =35 ZDU PJU = DIF]DN .RZDIN %HDID =% 7\G] 7\G]
D+35% = SUTHGPIRI GR Z\ERUX NHIXQNRZA PJU . ZIDINRZYND SUTHGPIRI GR Z\ERUX NHIXQNRZN P
6] == _DURIQD =% 2)+$"05 U ZIDINRZVND - DURIQD =% H
SUTHGPIRI GR Z\ERUX NHIXQNRZN P . +%"05 -
U = DIFJDN . RZDIN %HDID =% - “ RNILNQ\ SRINF]QH L SUDZQH 6Z PJU 5HGDIRZDQIH IHNViyZ SUDZQ\FK o D 1R
)+35% = - ODNXFK OLFKD; =% 2)+35% = 7~
o 8Vily! L ]DGDQID DGPLQLVIVDFIL [aGRZHI : 3IDZR DGPIQVIDFNGH F] VIFJHI 7\G]
4 6] ZDU PJU = DIFJDN .RZDIN %HDID =% 3UDZR NDUQH ZDU PJU . ZIDINRZVND - DURIQD =%
IEI‘:J 7\6] ) )+ 35% - = Z)+35% - -
& SUJHGPIRI GR Z\ERIX NHUXQNRZN G HOUIOIN = \NiDG VZRERGQHJR Z\ERUX,, GU . XFKDIVNL 20JHIG
ORQIND =% )+$°05 = =% )+s$705 = 7\6] 7\6]
%H]SIHFTHEWIZR LPSUH] PDVRZ\FK 3UDZR RFKURQ\ SDF\ SUJHGPIRI GR Z\ERUX 3UTHGPLRI GR Z\ERUX T JONUHVX QDXN
— NAUXQNRZN PV KXPDQIVNF]Q\FK PJU _RGFIHIQLDN
7\G] 1 _ZIDINRZVND .DURIQD = | [ODUFIQ =% :)+$°05 =
SUTHGPLRI GR Z\ERUX NHUXQNRZ\  GU %DUIQIN (INND Z DGPLQIVIUDFIL SXEUF]QHI UZ G % 2)+3$705 JGHRIRJH SRUNFJQH L SIDZQH Z 5 5 L
ORQND =% )+ $°05 = KDE SURI 8-" = RIQLFNL 3DZHi =% - g
3 - - )+$°05 = _ >
%H]SIHF]HEVIZR LPSUH] PDVRZ\FK =DUNV SIDZD UIRG]IQQHIR ==

7\G]

SUTHGPLRI GR Z\ERUX NIHUXQNRZ\ P
JU = DIF]DN .RZDIN %HDID =%

)+ 35% : -

8Vilyl L JDGDQLD DGPLQLVIUDFIL UJgGRZHI

7\G]
3UDZR DGPLQIVIUDF\IQH  F]

)+ 35% : -

ZDU PJU = DIF]DN .RZDIN %HDID =%

V]FJHI

7\6]

=DU\V SUDZD URG]JLQQHJIR

\G] NLHUXQNRZ\ PJU
SUJHGPIRI GR Z\ERUX NHIXQNRZ\ P | |- ZIDINRZVND . DURIQD =
JU . ZIDINRZVND . DURILQD =% | |% I)+8$"05
+$"05 = -

SUDZQ\FK

SUTHGPLRI GR Z\ERUX

SHGDJIRZDQIH HNViyZ

3UDZR NRQVINIXF\IQH
ZDU GU %RJIXViDZ
3UT\ZRID =% )+
35% : H




/DVIRB

3RPLHV]F]HQLH 5RINiDG =%

7\J

=%

= \NiDG VZRERGQHJR Z\ERUX ,,, GU . XFKDUVNL 20JIHIG

)+$"05 -

3UDZR RFKURQ\ SUDF\

7\6]

L,QVINIXFIH 2PEXGVPDQYZ Z 3RIVFH L
= JIXN $QQD =% 2)+$°06

3UDZR F\ZUQH ,, SUDZR

UJHFJRZHLVSDGNL Z GU

-DVIEVND -XVINQD =%
)+ 35% - =

8( Z “HAQJ
$2&

7\G]

3UDZR URG]LQQH L RSIHNXEF]H Z GU -
=% )+ 35% : 5

DVLEVND -XVINQD

7\G] 7\6]
SUTHGPIRI GR Z\ERUX NIHIXQNRZ\ P SUTHGPLRI GR Z\ERUX NIHIXQNRZ\ PJU
JU . ZIDINRZVND - DURIQD =% =) | |-ZIDINRZVND _DURIQD =% D+
A +$"05 = $"05 =
z =DU\V SUDZD URG]LQQHJIR 5HGDJRZDQIH IHNVIlyZ SUDZQ\FK
w
< 7\6] 7\G]
3UDZRNDUQH ZDU PJU SUTHGPLRI GR Z\ERUX NIHIXQNRZ\ PJU
. ZIDINRZVND _DURIQD = . ZIDINRZVND . DURIQD =% D+
% Z)+35% ¢ $"05 =
: SHGDJRZDQH IHNVIlyZ SUDZQ\FK
| ‘ ‘
7\G] 7\G] 7\G] 7\G] 7\G]
3UJHGPLRI GR Z\E ] JDNUHVX QDXN KXP (XE VSRé GU | [ORGX4GR Z\ERUX ] SURI QDG]Z CXURPDUNHILQJ L CXURPDUNHILQJ L RNINQ\ SRUNF]QH L SUDZQH GZ PJU
/HQIN 6IDQLViDZ =% )+$"05 z 5RVyi $GDP =% )+$"06 JIREDI]DFID \NQNX Z GU JIREDLIDFID INQNX 6iZ G ODNXFK OLFKD: =% Z)+35% -
&DG PHGLDIQ\ D VSREHFJHEVIZR LQIRUPDF\IQH E 7URIDQRZVNL 7RPDV] =% U 7URIDQRZVNL 7TRPDV] = -
GRFIRIRLILD VIUXNIXU VSREHFJQ\F )+=$55 % 2)+=$55 3
7\6] GZIFJHQID =35 =35 76l
B\VIHP RFKURQ\ SDZQHI Z 8QL (XURSHIVNHI GZ "H =G THFKQIN. QHJRFIDFIL L PHGIDFL Z
NQJ = JIXN $QQD =% 2)+$°06 - 7\6] 1 DGPLQIVILDFIL GZ GUKDE SURI 8-
/HJVIDFID DGPIQIVIDFNIQD GZ G %RIXVIDZ = \NiDG VZRERGQHJR Z\ERIX  GU -DVLEVND - DIV] $QQD =% 2)+3$705
7\6] 3UJ\ZRID =% 2)+%$"05 = -XVINQD =% 2)+$"06 = z
ORGXiGR Z\ERUX ] SURI QDG]Z 5SRVyi $GDP =% 6SDGNL Z SUDZIH UJ\PVNLP | ZVZSyiF]HGQIH
2)+$°06 z 76l
] X ; p /HJIVIDFID DGPLQIVIDF\IQD iZ GU \G]
BRFIRIRJLD VIUXNIXU VSREHF]Q\FK  (iZIFJHQLD ’
: 19 1HQ %RIXVIDZ 3U\NZRUD =% D+ 3UDFD ELXURZD Z DGPIQIVIUDFIL GiZ GU = \VRJIaG
7\G] $°05 - aXNDVIN ODJGDIHQD =% 1)+$"05 =
a 3UJHGPLRI GR Z\E ] JDNUHVX QDXN KXP (XE VSRi GU 7\6] el
2 /HQIN 6IDQLViDZ =% 2)+%$"05 = )
L N Q 0 °, . ) /HJIVIDFID DGPLQIVILDF\IQD iZ  GU 7HFKQINL QHIRFIDFIL L PHGLDFIL Z
'3 aDG PHGLDIQ\ D VSRHFTHEWIZR LQIRUPDF\IQH %RJIXViDZ 3UJ\ZRUID =% )+ DGPIQIVIUDFIL &iZ GUKDE SURI 8-
£ $"05 - -DIV] $QQD =% 2)+$705
6’ 7\G] z
3UJHGPLRI GR Z\E ] JDNUHVX QDXN KXP (XE VSRi GU \G]
/HQIN 6IDQLViDZ =% I)+$"05 = $GPLQVIUDF\IQH SUDZR JRVSRGDUF]H 7\6]
aDG PHGLDIQ\D VSRHFTHEVIZR LQIRUPDF\IQH UZ GU = RIINRZIDN $QQD =% ) /HJVIDFID
+$"05 = DGPLQIVILDF\IQD (Z GU
7\6] %RJIXViDZ 3UJ\ZRID =%
7\G] 2)+$"05 =




